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Question Section A

1. Matrices 'A and 'B' are of same order and

A + B = B + A.This law is known as:

A. Distributive law

B. Commutative law

C. Associative law


https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb
https://dl.doubtnut.com/l/_ceIJ0lWHIBcp

D. Cramer's rule

Answer: B

° View Text Solution

2. If a matrix has equal number of rows and columns then it

is said to be a:

A. Row Matrix

B. Identical matrix

C. Square matrix

D. Rectangular matrix

Answer: C

r. Y


https://dl.doubtnut.com/l/_ceIJ0lWHIBcp
https://dl.doubtnut.com/l/_k6S7CxIjv5wo
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3.Richa has a recurring deposit account in a bank for 3 years
at 8% per annum interest. If she gets Rs 2,775 as interest at
the time of maturity, then her monthly installment is:

A.Rs 500

B.Rs 625

C.Rs 750

D.Rs 875

Answer: B

° View Text Solution



https://dl.doubtnut.com/l/_k6S7CxIjv5wo
https://dl.doubtnut.com/l/_cxDRXPYEiPq1

4. The first, second and fourth terms of a proportion are 16,

24 and 54 respectively. Then the third term is:

A. 36

B.48

C.28

D. 32

Answer: A

° View Text Solution

5. The compounded ratio of 2:3 and 5:7 is

A.7:10


https://dl.doubtnut.com/l/_pHEv5Sk2EjoG
https://dl.doubtnut.com/l/_q9wuPDezPb2m

B.9:8

C.10:21

D.14:15

Answer: C

° View Text Solution

1

6. If 3 is a root of the quadratic equation

5
22 —mzr — — = 0, then the value of mis

4
A2
B.—2
C.—3

D.3


https://dl.doubtnut.com/l/_q9wuPDezPb2m
https://dl.doubtnut.com/l/_6ubWhT8X6BVm

Answer: B

o View Text Solution

7. The solution set of 1 > 15— T7x > 2z — 27,z € N on

the number line is
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Answer: A

o View Text Solution



https://dl.doubtnut.com/l/_6ubWhT8X6BVm
https://dl.doubtnut.com/l/_nLGEpAFsl3wc
https://dl.doubtnut.com/l/_xF3Qs8srvLfV

8. If the sum of first n terms of an AP is An + Bn2, where A
and B are constants, the common difference of A.P. will be
A.A+ B
B.A—- B
C.2A

D. 2B

Answer: D

° View Text Solution

9. Sum of n terms of the series /2 + /8 + /18 + /32 +


https://dl.doubtnut.com/l/_xF3Qs8srvLfV
https://dl.doubtnut.com/l/_3uqkQ6MxrwbL

N n(n + 2)
V2
B.v2n(n + 1)

c n(n + 1)

D.1

Answer: C

° View Text Solution

10. If a polynomial p(x) is divided by a linear divisor (z — a),

then the remainder is:

A. p(a)

B. p(1)

C. p(0)


https://dl.doubtnut.com/l/_3uqkQ6MxrwbL
https://dl.doubtnut.com/l/_0jLMYEjb4o3x

D. p(x)

Answer: A

° View Text Solution

M. If (z — 1) is a factor of z* — kz® + 11z — 6, then the

value of k should be:

A1l

C.6

D.5

Answer: C

r. Y


https://dl.doubtnut.com/l/_0jLMYEjb4o3x
https://dl.doubtnut.com/l/_YYmy9qQnm0AC
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12. The polynomial
z(z+1)+8=(z+2)(z—2)isa:
A.linear equation
B. quadratic equation
C. cubic equation

D. bi-equadratic equation

Answer: A

equation

° View Text Solution



https://dl.doubtnut.com/l/_YYmy9qQnm0AC
https://dl.doubtnut.com/l/_6b406vQxghau

13. The roots of the quadratic equation 3z — 14z +8 = 0

are:
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Answer: C

° View Text Solution

14. The product of matrices (PQ) ~'P'is

AP !


https://dl.doubtnut.com/l/_bVzp1wTAADY6
https://dl.doubtnut.com/l/_fcNNiXUbOJiu

B.Q !
cpPlQtp

D. PQP !

Answer: B

o View Text Solution

Question Section B

) rz—1 T —5 )
1. The solution set of 3 +4 < — 2is

5


https://dl.doubtnut.com/l/_fcNNiXUbOJiu
https://dl.doubtnut.com/l/_LudFfoL5siY6

D.( — o0, — 15)

Answer: A

° View Text Solution

2. Krishna deposited Rs 2,000 per month in a recurring bank

account for 2 years at the rate of 11% per annum interest.

The amount Krishna will get at the time of maturity is:

A.Rs 47,632

B. Rs 50,500

C.Rs 51,225

D. Rs 53,500

Answer: D


https://dl.doubtnut.com/l/_LudFfoL5siY6
https://dl.doubtnut.com/l/_3LCA8KawkeYV

° View Text Solution

3. Mr Pankaj took health insurance policy for his family and

paid Rs 900 as SGST. The total Annual Premium paid by him

for this policy rate of GST being 18% is

A.Rs 1,800

B. Rs 10,000

C. Rs 5,000

D. Rs 3,600

Answer: B

o View Text Solution



https://dl.doubtnut.com/l/_3LCA8KawkeYV
https://dl.doubtnut.com/l/_OYfpVTHGkmYF

4. The traders at each stage always pay GST to the

Government on their

A. Profits

B.C.P

C. Discount

D.S.P

Answer: A

° View Text Solution

5. Two matrices A and B are multipled to get AB, if:

A. Both are rectangular


https://dl.doubtnut.com/l/_oo26EJnl20JA
https://dl.doubtnut.com/l/_8w3y2vaPPV3S

B. Both have same order

C. No. of columns of ‘A’ is equal to the no. of rows of 'B'

D. No. of rows of 'A' is equal to the no. of columns of 'B’

Answer: C

° View Text Solution

Question Section C

1. The production of TV sets in a factory increases uniformly

by a fixed number every year. It produced 16000 sets in 6t
year and 22,600 in gth year.

Find the production during 1% year.


https://dl.doubtnut.com/l/_8w3y2vaPPV3S
https://dl.doubtnut.com/l/_RShxHAuHLPsL

A. 5000

B. 2200

C. 10000

D. None of these

Answer: A

o View Text Solution

2.The production of TV sets in a factory increases uniformly
by a fixed number every year. It produced 16000 sets in 6"
year and 22,600 in gth year.

The fixed number of TV sets increases every year is

A. 5000


https://dl.doubtnut.com/l/_RShxHAuHLPsL
https://dl.doubtnut.com/l/_n1T4RN7JGoMx

B. 3200

C. 2200

D. 1000

Answer: C

° View Text Solution

3. The production of TV sets in a factory increases uniformly
by a fixed number every year. It produced 16000 sets in 6"
year and 22,600 in gth year.

Find the production during 3™ year

A. 9600

B. 9400


https://dl.doubtnut.com/l/_n1T4RN7JGoMx
https://dl.doubtnut.com/l/_L1wYqztYelgE

C. 9200

D. 9000

Answer: B

° View Text Solution

4.The production of TV sets in a factory increases uniformly
by a fixed number every year. It produced 16000 sets in 6
year and 22,600 in 9 year.
The total production in 10 years will be:

A. 1,49,000

B. 1,52,000

C. 50000


https://dl.doubtnut.com/l/_L1wYqztYelgE
https://dl.doubtnut.com/l/_pUX1O7a5Leue

D. 75000

Answer: A

° View Text Solution

5. The speed of a motor boat is 20km/hr for covering the
distance of 15km. The boat took 1 hour more for upstream
than downstream.

Let the speed of the stream be x km/hour, then the speed of

the motor boat in upstream will be:

A. 20km/hr
B. (20 + x) km/hr

C.(20 — z)


https://dl.doubtnut.com/l/_pUX1O7a5Leue
https://dl.doubtnut.com/l/_xmFKmSVFR56D

D. 2km/hr

Answer: C

° View Text Solution

6. The speed of a motor boat is 20km/hr for covering the
distance of 15km. The boat took 1 hour more for upstream
than downstream.

What is the relation between speed, distance and time?

A speed — Distance
5P ~ Time
_ speed
B. Distance = -
Time

C.Time =Speed x Distance

D. Speed = Distance X Time


https://dl.doubtnut.com/l/_xmFKmSVFR56D
https://dl.doubtnut.com/l/_9Q0Z7Au8pFNQ

Answer: A

o View Text Solution

7. The speed of a motor boat is 20km/hr for covering the
distance of 15km. The boat took 1 hour more for upstream
than downstream.
What will be the speed of stream?

A. 20km/hour

B. 10km/hour

C. 15km/hour

D. 25km/hour

Answer: B



https://dl.doubtnut.com/l/_9Q0Z7Au8pFNQ
https://dl.doubtnut.com/l/_YCMWBsdTnNoX

| QY View Text Solution

8. The speed of a motor boat is 20km/hr for covering the
distance of 15km. The boat took 1 hour more for upstream
than downstream.
How much time boat took in downstream?

A. 90 minutes

B. 15 minutes

C. 30 minutes

D. 45 minutes

Answer: C

o View Text Solution



https://dl.doubtnut.com/l/_YCMWBsdTnNoX
https://dl.doubtnut.com/l/_879gq4gEnbtv
https://dl.doubtnut.com/l/_VmVyoRWgIG9o

9. Consider the following matrices.

A—3_2B—21C—11D—21
Sl =-1 4 "7 =3 4] |2 1”7 |1 2
2z —4 2

IfA[ 1 ] +2[ . ] :4[ ] then the values of x and v,

Y

respectively are:

A 2,3
B.1,3
C.3,4

D.3,2

Answer: D

° View Text Solution



https://dl.doubtnut.com/l/_VmVyoRWgIG9o

10. Consider the following matrices.

a4 e[ e b e 2

7
If BX = [6] , then the order of matrix X will be:

A2 X2
B.1 x 2
C.2x1

D.1 x1

Answer: C

° View Text Solution



https://dl.doubtnut.com/l/_7RoiEC4O2xOm

11. Consider the following matrices.

a4 e[ e b e [0

CD=

5 47
A 4 5
4 5]
5 5 4]
1 3]
C. 3 1)
3 1]
D. 1 3]
Answer: B

° View Text Solution



https://dl.doubtnut.com/l/_ZcGFHKkiDzcr

12. Consider the following matrices.

% T[4 e

2A+ B — C=
7 —5
A'_—7 11]
[ 8 -7
B'_11 —4]
[ —4 3
e _8]
7 —11
0. |, 6]
Answer: A

11
2 1

|

2 1
1 2

° View Text Solution

|


https://dl.doubtnut.com/l/_WGVQHzi4Mssg

